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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page and also on the Answer Sheet given inside this
booklet.

This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample: (2 ® o

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside this Booklet, which is common for
Paper I and Paper II. If you mark at any place other than
in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily

and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is NO negative marking.
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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T TS H U (50) - foaed T U9 €1 T U 6 g (2) 3k €| |l IRl o S|

IS
1.  Discussion Method can be used when :
(A) The topic is very difficult (B) The topic is easy
(C) The topic is difficult (D) All the above

2. Which of the following is a teaching aid ?
(A) Working Model of Wind Mill (B) Tape Recorder

(C©) 16 mm Film Projector (D) All the above

3.  The main aim of teaching is :
(A) To develop only reasoning (B) To develop only thinking
(C) Both (A) and (B) (D) To give information

1. foem-famst fafy = sw=m fean S dehar & S
(A) U Igd Hicd B | (B) TRV TRA B |
(C)  WehRUl hicH | (D) ST | |

2. T4 9 S fso-verees 9l §72
(A) e T 1 SRl gfaam (B) <9 femrex
(C) 16 ©H TH ftheH HisieRt (D) SWw g+t

3. TmmesgaRwEme:

(A) A dh wfh A faemmE (B) ke faw=i =1 forehmy
(C) (A) &R (B) T (D) F=I
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4.  The quality of teaching is reflected :

(A) By the attendance of students in the class
(B) By the pass percentage of students
(C
(D

) By the quality of questions asked by students
) By the duration of silence maintained in the class
5.  The present annual examination system :
(A) promotes rote learning
B) does not promote good study habits
does not encourage students to be regular in class

All the above

6. A college wants to give training in use of Statistical Package for Social Sciences (SPSS)
to researchers. For this the college should organise :

(A) Conference (B) Seminar

(C) Workshop (D) Lecture

7.  Which of the following is NOT the characteristic of a research ?

(A) Research is systematic (B) Research is not a process
(C) Research is problem oriented (D) Research is not passive
8.  Which of the following statement is correct ?

(A) Discoveries are researches

(B) Researches lead to discovery
(C) Invention and Research are related
(D) None of the above

9.  Which of the following statement is correct ?

(A) In research, objectives can be worded in question form
(B) In research, objectives can be worded in statement form
(C

(D

Objectives are to be stated in Chapter I of the Thesis

)
) All the above
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4. Toeror st e yefdld Bt ©
(A) her T BT R Suferfd 9
B) B i v gfaerd 9
Bl o G IP T Y i 0 |
el B i S T i a9

5. odHH oiftieh THeT Jomett :
(A) T fomn &1 iedifed wr ©
(B) 3T= UG i 3TQd ! UicHlied 78l hidl &
(C) BTl &l el # frafia o & fere dreafed &t shar
(D) 3IHH G+t
6. U TRIfGenerd 94 St =i wmifees fogmi & fou giersms s & yam-fafy 4§
Tforferd e =med ¥ 1 39 fo 3@ eefea e =nfe
(A) AT (B) Sl
(C)  hrefemretT (D) TFR

7. Treafafea 9 s sy oo Rt €2
(A) iy afeerd gt g1 (B) iy wfhan Tt 1
(C) <Y ToA W el g | (D) @iy ffpa = Bt

8. Trafafaa # ¥ %A o1 %o Tt ©2
(A) TR STTEUH 2 ¥ |

(B) STIEYM STMfa=hr Tt Bt T |

(C) onfo=pR IR STTHM Helferd & ¥

(

)
D) SWRI® # ¥ &iE L |

9. frefafed # 9w weF TE ® ?

A) Iy H YT T YR H el S ¥
B) ¥ H 3R¥Al I HUARR § el S |
C
D

ST ] MUY % YT LA H el Sl ¢ |

(
(
(
(D) IHH |t

)
)
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10. Match List A with List B and choose the correct answer from the code given below :
List A List B

(a) Historical Method (i) Past events
(b) Survey Method (i) Vision
(¢) Philosophical Method (iii) Present events
(d) Experimental Method (iv) Exceptional cases
(v)  Future action
Code :
@ (b (€) (d)
(a) @O @) v)
® @O @ G v
© @® G @ v)
D) @ i @) ()

Read the following passage and answer the question numbers 11 to 15.

Each day at the Shantiniketan School starts with the Saraswati Vandana. When
painting competitions are held in the school, images of Hindu gods and goddesses are
most common. Sanskrit is a favourite subject of many a student. Nothing new about it
except that the 1,200 - odd students studying in the Hindu - run school are Muslims.

In 1983, when Ranchodbhai Kiri started Shantiniketan in the all - Muslim Juhapura
area of Ahmedabad in Gujarat, only 20 percent of the students were Muslims. But
when riots involving the Muslims of Juhapura and the Hindus of nearby Jivrajpark -
Vejalpur affected the locality, Hindus started migrating. Today, all the students are
Muslims and the school is an unparalled example of harmony. In the 2002, when a
section of inflamed Muslims wanted the school closed, the parents of the students stood
like a wall behind it.

Shantiniketan’s principal says, “We never thought of moving the school out of
the area because of the love and affection of the local Muslims. Indeed they value the
high standard of education which we have set.” Such is the reputation of the school
that some of the local Muslim strongmen accused of involvement in communal riots
are willing to protect the school during the riots.

The parents of Shantiniketan’s students believe that it’s the best school when it
comes to the quality of the teaching. A large number of students have gone for both
graduation and post graduation studies. Significantly, the only Muslim teacher in the
40 - member teaching staff, Husena Mansuri, teaches Sanskrit. Infact, she is so happy
at the school that she recently declined the principalship of another Muslim - run school.

Some of the students’ entries in a recent school painting competition mere truly
moving. One drew a pciture of Bharat Mata with a mosque and temple, while another
portrayed a boy tying rakhi to his sister. Trully, Shantiniketan is a beacon of hope that,
despite the provocations from both communities, Hindus and Muslims can live
side-by-side with mutual respect.
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10. T A & G B | GHfaa Hifere AR = faw U e 9 @ S| g

et A gt B
(a) Tfcerfaes fafy () 9o Ffed weAmd
(b) wam faf (i) TEE
(c) Tnifes fafy (iif) T AL
(d) v fafy (iv) TR fearfaat
(v) Hfas &t wREE
%<
(a) b) (©) d
(A d v

(

(iii) (it
(i)

(

v

)
(B)
)
)

1v

A?A/‘\

)
iv)
)
)

0

\%

111

o

(
( (ii
( i

(iv

~—

FrAfafaa =9 i ufeu e 11 | 15 e % Y9l & 3T ST :

IS wifd Foped wpa A o=l TReadt g % Wy gE o ¥ 59 whe H
fesrart nt wfaeifian stefS st St ® @ ward v fég ot <aaed % @ fot s - ¥
2 BT T THSIET favg Ghd €, df 398 @Y o1d 1 ¥ 2 IS W o1 el © e g9
fe=gall gR1 9T S @ 39 Wha & & 1,200 forneft guewm €

ST 1983 H WBISHE fhil 7 TSR H TeHSEE o HRerd oigel Jarq soieh § i
Frohae 0% Tohen o a1 399 ket 20 WIEE! SE & GHAHH 91 Afehd JEq0 AR wiE &
STeSTaTeh— SSTTqX o &gl o o= S71 BIH o oi1s a8l 9 Tewgatl o1 Jated e 81 T o7
A %GR B GHATH ¢ AR I8 TR i 3T faeme a9 T g1 2002 % <M § $B AR
THEHM 39 98 AT =_d &, T BEI o ATIHER IToh (FATh AR IR GS & T |
viifd e &% THHER #Ed €, “EH TMFE GO & @R SR §E & Fod What i et
off 39 Sollh ¥ A o ST o o B 7T&l Wi | gehichd o1 98 & T 3 forem & 39 W =1 o
e A R T | o0 e ot ofd T ot § T wreifaes <t | i o v
T HEeEE o ST IR 39 a9 § 9 3T A

vifq feRad o forneffi < efasmeret %1 e § o @l fuan & 7ma § I8 @
Tolh H Hay afgan 1 wifd Fehad o 9gd IR ST=di A TA1deh AR SRR i et S1fsia ot
¥ | TSER 91 9% € T 40 T et <ot § el Uk ¥ GUeEE § - g9 5y, S U
et €1 Y 39 hel ¥ TH heX € ¢ TR SR g § qHOHH! R Je SRS Th TRl
I YUFEE o1 1 Y6 g faan | gia | Wt | Ui st gfaenfian § e 7 s o
ot UfET g fadik e areft €1 Teh 3 Af<t 3R Afesie & 91 YRd Al i a&iR 91, o
T A Tk JHAHM oSk bl 3701 &g =@ | et sigand g fowmn | wifd feraa smmen =t
T foror © o ST TRl % 9R IHEE % as fig-THeH TWRER T % e U gEH
o 1Y T Hehdl & |
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11. How the Shantiniketan school starts the day ?
(A) National anthem (B) Prayer
(C) Saraswati Vandana (D) Puja

12. Write the subject which is preferred by most of the students
(A) Hindi (B) English
(C) Sanskrit (D) Gujarati

13.  Who protects the school during the riot times ?
(A) Local Muslims (B) Hindus
(C) Politicians (D) Christians

14. Who is the teacher of Sanskrit ?
(A) Ranchodbhai Kiri (B) Manisha Vakil
(C) Husena Mansuri (D) Husena Khatoon

15. What is the hope despite the communal riots ?

(A) Hindus and Muslims cannot live side by side

(B) Hindus and Muslims can live side by side
(C) Only Hindus can live
(D) Only Muslims can live

16. Match List I with List II and choose the correct answer using the codes given below :
List I List II
(Distinguished Ladies) (Area of work)

(@) Jhumpa Lahiri (i) Journalist
(b) Barkha Dutt (i) Novel Writing
(c) Aparna Sen (iii) Film Actress
(d) Smita Patil (iv) Film Director
Code

@ ©® © @
A ) @ @0
(B) i iv

WXYZ—-00 8
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11.  ifq R Ta fad 1 YeeTd 8 i © 2
(A) TeTE (B) wWeTE
(C) HTEdt o=l ¥ (D) Y9
12. 39 foo o1 w9 oy, 59 stfienae famneff ude =@ © :
(A) fe=t (B) TS
(©) HeFd (D) Tt
13. 1 o GHI ol I fher s=mn?
(A) T gEHH! (B) Tegsli
(C)  TsHIfa=t (D) dumEt A
14. T I LR B 8?2
(A) TsewE fl (B) WIS Fhict
(©) TEmHgd (D) B&T @
15. Iy <t o deS[g ST i R0 | 2
(A) g IR o™ wy-wne & ® Fehd
(B) o R TUTHM WY-WY T Tehd &
(C) ad feg ®WHHd §
(D) I HATH @ Fehdl ©
16. g 1 (Tafem afeard) =g 11 (wrias) & gafra it o e T % 9 od sw g
e 1 T 11
(fafime Afead) (T &)
(a) guered (i) RN
(b) w@lTH (i) SUHESRR
(c) 39Ul &= (iti) FEAHT FHATRR
(d) o wfea (iv) famn fqerer
%<
@ (b (©) (d)
(A) (v) (i) (i) (i)
(B) (i) (i) (iv) (i)
© ) O (1) (1)
(D) (@) (@) (i) (i)
WXYZ —00 9 P.T.O.
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17. Which of the following pair is not correctly matched ?
(A) Aajtaak - 24 hours news channel (B) E.M. Stations - Radio
(C) National Geography channel - Television (D) Vir Sanghvi - India Today

18. Which is the oldest soap opera telecasted in India ?
(A) Kahani Ghar Ghar Ke (B) Buniad
(C) Humlog (D) Saas bhi Kabhi Bahu Thee

19. Which satellite channel uses the adline, “Knowing is everything” ?
(A) BBC World (B) Star
(C) Sony (D) Zee

20. Which is the “First made in India” Kids channel of television ?
(A) Cartoon Network (B) Walt Disney
(C) United Home Entertainment’s Hungama TV (D) Nick Jr.

21. The letters in the first set have certain relationships. On the basis of the relationship
which is the right choice for the second set ?

BF:GK::LP:?
(A) JK (B) QW
(C) VW (D) RQ

22. If the BLOOD is coded as 24113 and BRUST as 20678, then code for ROBUST is :
(A) 620781 (B) 612078
(C) 678102 (D) 610732

23. A bag contains an equal number of one rupee, 50 paise and 25 paise coins. If the total
amount in the bag is Rs. 35, how many coins of each type are there ?

(A) 15 (B) 18
(C) 20 (D) 25

24. In the sequence of numbers

2 4,116
3" 7" 77 21" 31
the missing number X is :
8 6
A — B —
5 7
O — D) —
WXYZ-00 10
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17. fr=fafed # @ w0 @ g gafaq = 82
(A) TSI - 24 He I ATl GHER =Hd
(B) U®. TH. ¥ - e
(C) e fRimnfRe ==a - fafase
(D) &R fwet - sfoea 32
18. RA H Cifas o1 Tord YRAT W19 3T shiver § 2
(A) eI =R =R i (B) g
(C) 'HEM (D) 99 At Heft &g off
19. HITET YIRS S 38 FIR-9 1 WA a1 §, “SH1 & 96 9§72
(A) SR S ©l aes (B) ®R
(C) =t (D) it
20. ColifasH W “HageH YR § SHET T S H1 A i 72
(A) A Sedh (B) dee fesHl
(C) FEfee B TueReTHe o1 & el (D) f1& SR
21. TS SH=IE % S1aRl § U faftly Hey ¥ 3H HeY & SMUR W T 9= & fau W@
forehea i @1 72
BF:GK:LP:?
(A) JK (B) QW
(C) VW (D) RQ
22, AfE BLOOD % %< 824113, 3R BRUST &l &< & 20678, A ROBUST & &< T :
(A) 620781 (B) 612078
(C) 678102 (D) 610732
23. TH It B Uk w99, 50 T IR 25 90 F faeht & G SR g1 afe It # $a 35 T
T @ 9% YRR F fom i Gem @ 2
(A) 15 (B) 18
(C) 20 (D) 25
2 4 n 16
4 37 A m
3k JEen § 8 FH X ¥ :
8 6
A) 75 ® 3
5 7
© - @) 3
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25. If A stands for 5, B for 6, C for 7, D for 8, and so on, what do the following numbers

stand for :

22,25,8,22 and 5°?

(A) PRIYA (B) NEEMA
(C©) MEENA (D) RUDRA

26. Which of the following statements are always true ?
(a) A wooden table is a table
(b) Now, it is raining or not raining
(c) The sun rises in the East every day
(d) A chicken comes out of a hen’s egg

Choose the correct answer from the code given below :

Code :
(A) (a) and (o) (B) (a), (¢) and (d)
(©) (@) and (b) (D) (b) and ()

27.  Which of the following statements are mutually inconsistent ?
(a) Mostly poets are not egoistic
(b) Mostly poets are humble
(c) Some poets are egoistic
(d) Some poets are not non - egoistic

Choose the correct answer from the code given below :

Code :
(A) (a) and (d) (B) (b) and (0
(©) (a) and (o) (D) (c) and (d)

28.  Which of the following statements is/are absolutely impossible ?
(a) A woman giving birth to her own grandchild
(b) A man attending his own funeral
(c)  The Sun not rising in the East some day
(d) Cars running without petrol

Choose the correct answer from the code given below :

Code :

(A) (a) and (b) (B) (c) and (d)

(S (b (D) (a)
WXYZ —-00 12
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25. ARAFHEA5T, BH YA 6 §, C H1 A 7 T, D &1 Jed 8 T, IS o F=fafaa sfant
22,25,8,22 3R 5 H YA T :

(A) PRIYA (B) NEEMA
(C) MEENA (D) RUDRA

26. frfafed § 4 #F ¥ %A 99 9 89 €2
(a) THS! H HS TH U SO0 B |
(b) TH GEI AT AW S @Y A AW T A R
() 93 e yd foen 9 3fed grar 71
(d) =TT % v | fHeRerar B
fireferfed %2 9 T 3w AT -

%‘:
(A) (a) 3R (0) (B) (a), () ¥R (d)
(C) (a) &R (b) (D) (b) ¥R (0)

27. fr=fafed § 4S9 weA e faedt €2
(a) IUHMR Hfd STERR T 2d 2|
(b) IfepdR wfa forg & F
() T Hid WHRN T 2 |
d) T Hia fR-sEwd 72 e 2 |
fireferfed %2 @ T 3 AT -

%<

(A) (a) ¥R (d) (B) (b) 3 (c)

(© () ¥R () (D) (c) ¥R (d)
28. fr=fafad # & #F GUA Fer qouia: g &2

(a) TorEt ©ff g o794 dId 1 9 <1

(b) el o= g0 oTot eTaifE H Juferd S|

() Tt o7 g =1 q& @ 3fcd 7 2

(d) R T EEF o T =@

frfafed w2 ¥ w8 3W gAT -

%<

(A) (a) ¥ (b) (B) () ¥R (d)

(© (b) (D) (a)
WXYZ —-00 13 P.T.O.
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29. Which of the following are incorrect ways of arguing ?
(a) If horses are cows, and if cows are sheep, then all horses must be sheep.

(b) If top actors are famous, and Shah Rukh Khan is famous, then Shah Rukh Khan
is a top actor

(c) Lata is the second sister of Raju, hence Raju is the second brother of Lata
(d) A is not equal to B, but B is equal to C, hence A is equal to C.

Choose the correct answer from the code given below :

Code :
(A) (a), (b) and (c) (B) (a), (¢) and (d)
(©)  (b), (c) and (d) (D) (a), (b) and (d)

30. Which of the following statements say the same thing ?
(@) “I am clever” (said by Rama)
b) “I am clever” (said by Raju)
c) “My son is clever” (said by Rama’s father)

(

(

(d) “My brother is clever” (said by Rama’s sister)

(e)  “My brother is clever” (said by Rama’s only sister)
(

f)  “My sole enemy is clever” (said by Rama’s only enemy)

Choose the correct answer from the code given below :

Code :
(A) (@) (), (d), (e) and (f) (B) (a) and (b)
(C) (d) and (e) (D) (a) and (f)

Study the following graph and answer Question Numbers 31 to 33 :

0 ||:|Dew-drop [ Cool-sip -Pep-upl
35 4 35
Z 5] 2 25 25 | [25 25
S o0l S 20 20 20
<
2 15 t 15 15
E 10 T 7
5 4
0
1988 1989 1990 1991 1992 1993
YEAR
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29. fr=fafed & ¥ w99 9% % TTod &1 €2
(@) afe e M €, oK afg md 9 ¥, @1 wft =g A4S ¥
(b) Af Soaw Afvma ufes ¥, o vreew @m ufag B, df veeE @H Iy St 2
(c) I TS I THY I &, 3T TS| A ol T 4TS S |
(d) A, BF A T T, fhg B, C % UM T, 7 A, C % THM ¥
foreiferfion %2 @ Td S R ;

%<
(A) (a), (b) ¥R (c) (B) (a), (c) 3R (d)
(C)  (b), (c) IR (d) (D) (a), (b) &R (d)

30. frefafad § 9 w99 FoF T & 91 Fed ©2

a) “HARY (I9 FR el 740) |

b) “H AT (TS FN H M) |

¢) “HWIHA TR T (TH % T g e )

d) “AU WE TR & (I H T&T 5RI HEl )

e) T W TG R’ (TH I Shalldl og §RI hal )

f)  “HV ATl I TG &7 (IH o Tl I GRI el T

%‘:
(A) (@), (@) (d), (e) R (f) (B) (a) &R (b)
(C) (d) 3R () (D) (a) ¥R (f)

T 3 T AIET T T U9 G 31 ¥ 33 T o ST itaig |

40 4 |[Ofes-gm Owa-fov  l¥-sm |

30 30

35 1 35
ar 304 30 30 30
= o5 | 25 25 25 | [25 25
E 20 4 S 20 20 20
15 1 15 15
f
0

1988 1989 1990 1991 1992 1993
CL|
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31.

32.

33.

In which year was the sale of ‘Pep - up’ the maximum ?
(A) 1990 (B) 1992
(C) 1993 (D) None of the above

In the case of which soft drink was the average annual sale maximum during the
period 1988 - 1993.

(A) Pep - up only (B) Cool - sip only
(C) Cool - sip and Dew - drop (D) Pep - up and Dew - drop

What was the approximate percent drop in the sale of Pep - up in 1990 over its sale in
1989 ?

(A) 5 (B) 12
(C) 14 (D) 20

FOR BLIND STUDENTS (Q. No. 31 to 33)

Read the following paragraph and answer question numbers 31 to 33 :

It is logical to predict victory for Australia in its approaching series in India.
Statistically Ricky Pointing’s side is a clear 20 point leader in the ICC Test championship
table and 25 points ahead of Sourav Ganguly’s fourth place combo ? History, however,
does not always observe the laws of logic, and the fact that 35 years have elapsed since
Bill Lawry’s team achieved Australia’s unique series win in India, suggests that this
year the odds are not all stacked in Australia’s favour.

More recent statistics support this viewpoint. Ganguly’s men won the 2000-01
rubber on the subcontinent 2 - 1, they then defied their abysmal record in matches
abroad by sharing the honours of the 2003-04 rubber in Australia.

In early 2004, they repeated their successes against traditional rivals, Pakistan,
with Sehwag scoring 309 runs at Multan where he and Tendulkar compiled a joint
335. In Rawalpindi, Dravid’s 270 set the seal on an innings victory and a 2 - 1 triumph
in a series which broke the perennial deadlock between the two nations.

31. Which subject does not observe the Laws of Logic ?
(A) Philosophy (B) Biochemistry
(C) English (D) History
32. Indian team got success in early 2004 against their traditional rival :
(A) Pakistan (B) Australia
(C) England (D) Bangladesh
33. In which place of Pakistan Sehwag scored 309 runs ?
(A) Kolkatta (B) Rawalpindi
(C) Multan (D) Mumbai
WXYZ—-00 16
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31. fog 94 d 9u-319 =i fash! gaife oft ?

(A) 1990 (B) 1992
(C) 1993 (D) IHH hIg &I

32. & T S7afY (1988 - 1993)H Ry wive T i ofaa arfier fosht waifurss oft 2
(A) hadl TU- 319 (B) hadl ehiad-Tay
(C) hIa-Toq wd fea-gm (D) Y9-379 TH fea-gm

33. 1989 @ o1 § 1990 &t Y9-3T9 &t forshl H a1 foha wfawra &t firrere o1 ?
(A) 5 (B) 12
© 14 (D) 20

hadl gi¥e Bl o falq (U9 . 31 9 33)
Frfafea 3= ol ufed 3 U9 . 31 ¥ 33 Tk oh ST ST |

ST & ST YRA SR H AR feran =it STid bl wfers amoit e difehen © | STiehet
% Tere X fiht dife ot 3w one. W wi. T Sfagafen w get § 20 7F W iR Y yHeH
R TS WRA e % T H 25 3k M T W S W, siaer goen difcher et w =&
Tadr| dea I8 © o e i & Agc | Teforan 2 sl wRd W Sfid <t e gU 35 9 o
T4 21 q2 IR el § o 39 99 garel T WE U SARLfor o 9 H s Tel ¢

T I kS ot 39 TR 1 Y A &1 TN & Sigd + 3U TG H 2000-01
T 2-1 9 S o 39k o foesi oxdt W 39 We el o Rere &l =dr s gu
o™ | 2003-04 &t RS sEl W BIE |

2004 F oA Tl § IR wHAET 1 SR HH 97 YU Gfegal qihEd &
e oft S @ | FeanT 3 Head <% H 309 T a1 37 dgert o e 335 T ol HBRR
| TGSl | gIfae o 270 W A Tk IR | Sfid ki i W@d g, 39 HRS ¥ 2-1 9 sfia
T AT 9T R e, e <1 <9 o e o™ 9 o il i drer o |

31. IAHl fowg ek o HIAT T AIG A& L ?

(A) TR (B) T hftreg
(C) TS (D) sfae™
32. 2004 % Y& H IRAF A9 T T WA Gfaggt W faer o
(A) TIfRE (B) Efern
(C) T (D) @FTee®
33. uifered o fohd T&IM W F&arT A 309 T AT ¢
(A) hICTRIT (B) UFafquet
(C) HeH (D) i
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34. The “Report on Currency and Finance” for each of the financial year in India is published

by :
(A) Reserve Bank of India (B) Ministry of Finance
(C) Planning Commission (D) Central Statistical Organisation

35. The number of students in two classes A and B and the respective “mean” of the marks
obtained by each of the class are given in the following table :

Class A Class B
Number of Students 20 80
Arithmatic Mean 10 20
The combined “mean” of the marks of the two classes will be :
(A) 18 (B) 15
(©) 10 (D) 20

36. ICT stands for :
(A) International Communication Technology
B) Intera Common Terminology
) Information and Communication Technology
D) Inter connected Terminals

37. Which of the following statement is NOT correct ?
(A) Computer is capable of processing only digital signal
(B) Computer is capable of analysing both quantitative and qualitative data
(C) Appropriate software is required for processing the data
(D) Computer is capable of processing digital as well as analog signals

38.  Which of the following is the appropriate definition of Information Technology ?

(A) Information Technology refers to the use of hardware and software for processing
information

(B) Information Technology refers to the use of hardware and software for distribution
of useful information

(C) Information Technology refers to the use of hardware and software for storage,
retrieval, processing and distributing information of many kinds.

(D) Information Technology refers to the use of principles of Physical sciences and
Social sciences for processing of information of many kinds.

39. Which of the following statement is correct ?
(A) Virus improves the speed of processing information through computer
(B) Internet does not allow the virus to spread
(C) Virus is a part of software
(D) Virus is an operating system

WXYZ—-00 18
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34.

35.

36.

37.

38.

39.

IRA % YA forca-ad # “Rud o7 el 3R WIS Yehlford i ¥ -
(A) T & =1t gfrean (B) fax wame™
(C) IS ST (D) ¥ew wfeiwa shEsYE

Trafafaa wifton § < wansti A 3 B & faenffai =) e R g e g sifsid s
fegm g

wHeT A +HTB
BT & & 20 80
RO Sfid 10 20
ST el & Tl T Sid €

(A) 18 (B) 15
(C) 10 (D) 20

. Y. . Trefed e ©

(A) TR FHRARIH SHTATST
(B) = HIHA AT

(C) THHYMA TUS HEGFhIM SIS
(D) 3= FHichee JHTeH

=1 5 | 9 91 e w9 T 72

) wFER Eifvea fma wi duifia e § wu9d 2

B) T UEATHSE TS TUNcHS SIHHRI Sl faveryor & # wmef ¢
C) N &l HURd & o fAT 3TH HIR i S& © |
D) K Sifed Ta A faHa &l duifia & § §mef T

>

(
(
(
(

frefafad & & g Frenfrent s Swgw i o @ 72

(A) A H HIRA A o AT ST # A0 T rEor 3R AR &l g1 YrarfiTent
FEd B

(B) TR YT o Tl o feTT IuaimT § T T4 BrEoeR 7R WTeerar i a1 Yreifirent
FEA T

(C) o= YerR T =T 1 HIR, YA WIH, Heniia iR faawor & fore 3uein § e 73 gream
3T AR T AT TRt hed © |

(D) ¥ YR &t =T 01 Heifd v o fae sdifaes fomm wd wmifse foae & fagra &
YT T YT WrEfiTeh! hed ¥ |

=1 @ i | e T 7?2

(A) ST HFRR h R YA o HHR ST (A I 9T T S|
(B) TeTie ATEd &I e & <l §

(C) dTEH FTedaR 1 feedn ¥

(D) oTeXd T Mufen fawen ¥
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40. Which of the following is correct statement ?

(A) Computers can be used for diagnosing the difficulty of a student in learning a
subject

(B) Psychological testing can be done with the help of computer provided a software
is available

(C) A set of instructions is called a programme
(D) All the above

41. Global warning during winter becomes more pronounced at the :
(A) Equator (B) Poles
(C) Tropic of Cancer (D) Tropic of Capricorn

42. In the study of man - environment interaction, the statement of Miss Semple that
“the humans are solely the product of their environment”, is :

(A) An opinion (B) A prejudice
(C) A fact (D) A widely accepted phenomenon

43. In analysis of man - environment relationship Pragmatic Possibilism implies that :
(A) There is no limit for man to exploit resources of earth
(B) There are limited possibilities to explore earth’s resources

(C) The man has to watch and assess the situation and then go ahead with resource
utilization

(D) The man has to keep in mind only his basic needs while planning to harness the
potential of resourceful earth

44. Arrange Column II in proper sequence so as to match it with Column I and choose the
correct answer from the code given below :

Column I Column II
Activity Noise level
(a) Hearing (i) 30dB
(b)  Whispering (i 1dB
(c) Interference with sleep (iii) 60 dB
(d) Normal talk (iv) 30-50dB
Code :
@ ® © @
@ O @ ) (v
® G @ G ()
© @) @ @
O @ O @ ()
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40.

41.

42.

43.

44.

WXYZ—-00 21

1 & | ®iF W %o W T2

(A) T fawa w1 e # faenedf &t wfcTE &1 fem Frege ot werar § foan s w2
(B) 3T WITea?R IUCTsY ¥ Tl AT eh TRIT0T e ohi Teral ¥ fohan S wehel 2|
(C) Yo % TH=IT I I Hed ¢ |

(D) 3IHH g+t

J-HUSHT A9 Wikl # 7R 31ferek 2 St ©

(A)  forger T ™ (B) ¥dl W
(C) % @ W (D) ¥R W@

HHE-TeX0 AUChA o a9 § T8 S9qel 1 e foh “He qoid: 79 et
IAE &7 TH :
(A) HAE (B) TEEE

C a=A% (D) =g Wigd Hf @

TFE- TR0 Ty o1 e H AR dvadns ol ffeae ¢ f

(A) 9ot % FEnel % e § 7a % fae i i ad §

(B) At o HHTHAT & AW H 7 o fore Hiftd Hemeee §

(C) \e <kl uftferfa w1 Feror Tel SHeh Hoaieh S HHIEE YA KT =T

(D) HHE k! GEEA YU geat whi A=A 9fh kI STAN H A hl ASH 970 THI Held
STYRYT STERIRAA! Sl LA H W& A6

e 11 sl shietd 1 | Hferd e < fore ayferd orgsha § orafterd shifse de < fog g
ECRI IS e
AN 1

()

<hlceTH 11
(et &R)
iy 30dB
i) 1dB
iii) 60 dB
iv) 30-50dB

N AN~
= >
~

o
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45. The maximum loss of forest lands in India is caused by :
(A) River valley projects (B) Industries
(C) Means of transportation (D) Agriculture

46. In which year the University Grants Commission was established ?
(A) 1948 (B) 1944
(C) 1953 (D) 1960

47. Another name of Basic Education or Nai Talim is :
(A) Compulsory Education (B) New Education Policy
(C) Wardha Education Plan (D) Sarva Shikshya Abhiyan

48. The Idea of ‘Democratic Decentralisation” in India was popularised by :
(A) A.D. Gorwala Committee, 1951 (B) Paul H. Appleby Committee, 1953
(C) B.R. Mehta Committee, 1957 (D) Ashok Mehta Committee, 1978

49. In India, a political party is recognised as a National or Regional Party by the :
(A) President of India
(B)  Election Commission of India
(C) Law ministry in consultation with the Law Commission of India
(D) Union Parliament in consultation with the State Legislatures

50. Which of the following factors is/are responsible for the increase of the role of
Government in Developing Countries ?

(a) Economic Planning (b) Rising expectation of People
(c) Privatisation (d) Emergence of the concept of Welfare State

Select the most appropriate answer from the code given below :

Code :
(A) (a) and (d) (B) (a), (b) and (d)
(C) Only (c) (D) Only (d)
-00o0-
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45. 9RA ¥ 99 4f 1 Faifees g gen € ¢
(A) =1 = AR g (B) 3= g
(C) uRe=T & HrEEl g (D) HUgW
46. Tovafaemera STHEM ™M &t woma fhg a9 # &t 78 ot ?
(A) 1948 H (B) 1944 H
(C) 1953 # (D) 1960 H
47. gfae forem = 7€ ™ & g0 A T
(A) e fora B) = forem i
(C) = ferem s (D) e e stfiam
48. XA H Al Tt o1 fa=ar T s T
(A) T 2. TRaren |fafd, 1951 g/ (B) did WH. TYersl |iHfd, 1953 g1
(C) . IR "ean |fufd, 1957 g/ (D) 3T¥ieh Hedl 9fHfd, 1978 g1
49. 9Ra H fordt ToHfae <ot 1 T o1 &5 °d 6 &9 H 9l el ©
(A) HRd kT TeUfd
(B) R4 sl faf=m s
(C) ¥RA < fafyr st o wwel | fafy wamera g/
(D) T faum Huea & Wl 9 9§68 g)
50. faeRrasiict e § AR ot Sedt g8 it & fau f=1 8 9 & 9781 HRor SR 72
(a) oTfelep T (b) TN I @l gS SR
(c) FrsiipTm (d) AFHATHR SR 1 3
%2
(A)  (a) 3R (d) (B) (a), (b) ¥ (d)
(©) &ad (o) (D) ad (d)
-00o0-
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